R

\4

S Y Wk KPS AR A

T

L Y

BIRTR ~ PEHAE

e R RAPME s 31 A o

iR E £ &5 40 ks Y RAPME o s 16 4 3 30 4 o
SR It s MARARME o fea 15 21T o
AMEDRE = T EF  FHRWHE Y A AT
(1) 4oty A2 TP R > fel 31 A0t o
(2 FihTPHEF o per 3000 o
2R L ER 40 AIRGFFCE > B LI IRIEA R R fes 10 4 > HARJE P e
A e YN
(1) et AgEh TP R o i 21 ALt o
2 FithEPEE A 20A T o
d 2Rk ;Imkgr:g H o2 i (H) 2 # & KPIE & 52 (g
FE 20
LA
EN

- s AIREE 2 R (HE) £9F KPLAG 2 100 & > £32106 w2 fiem 3 AIATAR

PRAE AL FEAFRSBAE AT (404 ) 2 FREnFR (404) 2 452

=7 (20 4 ) e

S PP ERKPLE R B RS AR T PRI L B

(BEFEEEZ )b L AT ~2 s P57 M KPL2 =2 R 2 2o g R A #A B5F

% 37~38~35 " W KPl= =& 2 »2F REFA 5 3666 wxs 366 4 °

W

Il #EEE R L (RIEEED ) B

AT HE - HE Y 1B KPIBEEIRERLAE SR A B A FHEEE Y

AR AEJRIFE AR S 853% 0 2 E A

85.3%*10=8.53 » » #& % 8.5




